MATH 280 - QUIZ #1 Name: |17
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Directions: Please show all work to receive maximum credit. This quiz is worth 14 points.
1. Given a=(-2,4,3) and b= (3,2,-3). Determine the following:
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(2 points) 2. Find the distance between P(4,2,-5) and Q(3,-1,—4).
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(2 points) 3. Find the center and radius of the following sphere:
X +y*+2°-8x+2y+6z+1=0
2 ox ) .
/vv-:/ ‘f‘j —}'27 _/2_/(;9 —
e P B y (,
N i [ 4 - ) I/ -f,'i,’-[ /"1'
)L):/g)(‘f/(i Ju} )7 )/ 7( // «f ‘Z)-,l ‘\/"1 ; / 3 /Y y )
. ’ 37 =
(¢=y) " Hlyr) v (243 =
(’éll%é?/ lv /L// ‘{/. - j)

/"/[{' “wS ) }



